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REASONING ABILIT Y

1.

In row of forty children R iselew
en hfromtheright erd ard there
arefifteen children betweea Rard
M. What IsM'sposition fromthe
left erd of the row ?

(1) Fourteerth

(2 Fifteent

(3) Thirteenh

(4 Cannd be determind

(5) Noneof these

In acertah code langua@ '"how
mary are there is written as 'ka
natadd ard 'mary arewelcone
heré is written as 'na pi ni ka.
How is'how written intha code
langua@ ?
1) ta
(3)taordca
(4) Data inadequag

(5) Nore of thes

If the positiors of the first ard
the fifth digits of the numbe

(2) da

8359147 are interchangedsim- §

ilarly the positiors of the seconl_.
and the sixth digits are inter-
changel ard so on then which of
the following will be the secoml
digit from the right emli-after the

rearrangemen? {
@S 23
(3)- 9 (4)2

(5) None of thes

How mary sud pairs of letters
are there in the word ADJUST-
ING ead of which has as mary
letters betweea ::iﬂ intheword
as in the English alphabe ?

(1) Nore (2) Ore

(3 Two (4 Three

(5) Morethan three

) IIHow mary meaningfli English

words can be formed with the
letters LBAE using ead letter
only once in ead word ?

(1) Nore (2) Ore

(3) Two (4) Three

(5) Morethan three

6. In a certan code BUILDER is
written as JVCKSFE How is
SEALING written in that code ?
(1) BTFKHOJ
(2) JOHKBFT
(3) TFBKHOJ
(4) BFTKJOH

(5) None of thes

7. If 'R denotes V; T denote '-';
"M", denotes '+' and W denots
V,then — _ i
27T 15 R3IW4M6 =7
@ 7 I I
(3) -23 ;A1 |

(5) Noneof thes |
In a certancode WAVE isiwrit-

8.
ten as '5%3* and WINS is writ-
ten as '59@©’ How is SANE writ-
ten in tha code ? ]
(1) ©9@* @ %o © 4
3o © % (4)©%f:>-
(5) Nenre of thes

2 Which of the following is the mid-

dle digit of the third highes
amory the five three-digi num-
bers given below 2.

368 931 472 715 647
(1) 6 @3

e 7 @1

®) 4

10. Among P, Q, R, Sard T ead
having a different height Q is
shorte than only T and S is
shorte than Pard R. Who amorg

them is the shortes ?

@R

(2)s

(3)P

(4) Data inadequat

(5) Nore of thes

Directions (11-15 : Study the
following arrangemetrcarefuly ard an
swer the questios given below :
BM%WR3J@QKO©DF69W4
NEP2SAYS51QZ#7U G

11. Which of the following is the sixth

to the left of the twentieh from

the left erd of the abowe arrange

mert ?

@3 @Yo,
B)w . @®E
(5) Noreof these r
How mary sud cogisonarsae
there in.the aboe arrangement
ead of which isimmediatey pre
ceda by asymbd ard immedii
ately followed by anumbe ?

e (1) Nore & (2 Onre
i (3) Two (4) Three
L (5) More than three
If all the symbobk ard all the|
vowels are droppeal from the
abowe arrangementwhich of the
following will be twelfth from the ,

12.

13.

right erd ?
@9 (26
3P @y

(5) Noneof thes

How mary sudh numbes ae
there in the abowe arrangement
ead of which isimmediatey pre
cedea by alettear but not imme
diately followed by aletter ?

(1) Nore (2 Onre

(3) Two (4 Three

(5) Morethan three

What shoul come in the plae
of question mark (?) in the fol- ;
lowing series basel on the abowe,
arrangemen?
MRJ O©F9
(1) Y5l @ YIQ

(3) A5Q 4 Yz

(5) Nore of thes
Directions (16-20 : In ead of,
the questiors belowv are given foui*-
statemerd followed by four conclu
sions numbere I, II, IIl ard IV. You
hawe to take the given statemergto
be true even if they seen to be d
variane@ from commony known facts .
Red all the conclusios ard then de
cide which of the given conclusios
logically follows from the given state
mensdisregardig commony known .
facts

14.

15.

*E2 ?
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ad Il ar given belaw it. You hawe to
decick whethe the dat provided in
the statemeistare sufficiert to answe
the question

Real both the statemerstard -

Give answe (1) if the dat in
Statemenl alore are sufficiert to an
sne the question while the dag in
Statemenl| alore are nat sufficiert to
answethe question

Give answe (2) if the dat in
Statemenl| alore are sufficiert to an
sne the question while the dag in
statemenl alore are na sufficiert to
ansnethequestion

Give answe (3) if the data in
Statemenl| alore or in Statemenl|
aore are sufficiert to answethe ques
tion

Give answe (4) if the data in
boh the Statemerst| ard Il are nat
sufficiert to answe the question

Give answe (5) if the dat in
boh the Statemerst! ard |l togethe
ae necessarto answe the question

17. Wha does 'kd mean in a coce
languag ?
. 'sa ka nd mears 'ske may
work inthe code language

Il. 'hakatd mears'work isworshipinth

18. Wha is Sonab rark from thetop
in agroy of 10 studers ?
I. Meenus rark is three ranks-
abowe Sonal
Il. Sita is secod from the\bot
tom ard is three rahle belav
Sonal
19. On which day of the monh{ is
definitely Dheerag birthday ?
|. Dheerag brothe correcty re-
membestha Dheerag birth-
day is afte 156 bu befoe
19th of the meﬁth |

. Dheerag friend correcty re-

membestha Dheerag birth-

day is afte 17t bu befoe
21 & of the month

20. How far is A from the startirg

poirt ? |

| A drives 10 km. towards East

\ then takes a right tum ard

Jdrives anothe 10 km. He

_agan drives 5 km. towards left

amd agan drives 15 km. to-

wards left. Finally, he moves

15 km. towards left ard stops

Il. A drives 20 km. towards East

then takes a left tum ard

drives anothe 20 km. He

agan drives 10 km. towards

right ard again drives 25 km.

towards right. Finally, he

moves 30 km. towards right

ard stops

Directions (21 - 23): Following

questios are base on thefive three
digit numbes given below
756 421 843 615 597
Wha will be the produd of the
first ard the third digits of the
third highe$ numbe ?

21

0)40 (2)30
Q) 3B (4) 24
) 32

22 If the positiors of the first ard

the third digits of ead of the |

numbes are interchanged
which of the following wil L be the
sum of the first ard the secon
digits of the [owes humbe?
(1)3 r(2)7 |

23

addel to the third digit.in-eady
ndmbe ard then if thejpositiors

i ithen which of the following num:

bers will be the seconl lowed ?

(1)615 (2421

3 7% (4) 597

(5) 843

Directions (24- 29) : In ead of

the questios belav are given four state
mens followed by four conclusiols
numberd |, II, Il ard IV, You haw to
take the given statemerstto be true
evan if they seen to be & variane from
commony known facts Real all the
conclusios ard then decide which of
the given conclusios logically follows
from the given statemerstdisregare
ing commony known facts
24. Statements

All silver aremetals

All metas are steel

Sone sted are stones

All stone are stands

Conclusions

|. Sone stang are metals

Il. Sone stones are silver.

Il . Sone stand are steel

IV. Sone stones are steel

(1) Only 11l ard IV follow

(3)6 | (4)8 /

(5)2

If '3 is subtractd fr first
digit in eat numbe 'ard T is ¢

%‘Iﬁ@@@gﬁ? |nterc(;jri1%1irt1sgigd

25

(2) Only | follows

(3) Only 1l follows

(4) Only Il follows

(5) Nore of thee
Statements
All chais are tables
All tables are songs
Sorre song arerhythms
Sorre rhythirs ate pillows.
Conclusions

I. Sonetables are dﬁal?s
1. Al Ytables arerhythms
I11. All chais are songs
IV. Sone pillows are songs
(1) Only 1"ard Il follow
(2) Only | ard 1V follow

3) Only | follows

ﬁh) Only 1l follows

(5 Nore of thee

26. - Statements

27.

28

Sonemobilesare pens
Sone pers are covers
Somecoves ak plates
All plates are papers
Conclusions

I. All mobiles are covers
Il. Sone pers are papers
1. All plates are pens
IV. Sone papes are mobiles
(1) Only | follows

(2) Only 1l follows

(3) Only 1 ard IV follow

(4) Only Il ard IV follow
(5) Nore follows
Statements

All shoe are tables
Sonetablesarelanes

All cars are lanes

Sone lanes arerow.
Conclusions

. Sone tables are rows
Il. Sone tables are shoes
I1l. Some rows are caps
IV. Sone lanes are shoes
(1) Only I ard Il follow

(2) Only 1l follows

(3) Only Il follows

(4) Only eithe | or IV follows
(5) Nore of the®
Statements

All brand are bottles

All bottles are machines
All machins are files.

All files.ae roots



29.

Conclusions

. Sonefliesare machines
Il. Sone brand are roots
Ill. Some machine are roots
IV. All brands are flies.

(1) Nonre follows

(2) Only | follows

(3) Only 1V follows

(4) All follow

(5) Only | ard 1V follow
Statements

Some symbobk are numbers
Some numbes are letters
All alphabetare symbols
All piancs are letters
Conclusions

I. Sone symbok are letters
Il. Some numbes are pianos
I1. No letter is symbol

IV. Somesymbokare alphabets
(1) Only I follows

(2) Only 11 follows

(3) Only 1l ard 1V follow

(4) Only 1V follows

(5) Only eithe | or Ill ard 1V fol-
low

Directions (30-35 : In ead

questian below isgiven agrowp oFlet
ters followed by four combinatiors of
digits/symbosnumbere (1), (2), (3) "2 g
and (4). You hawe to find out which
the combinatios correcty represe
the grouwp of letters basel on thefol-
lowing coding systemn and the condt
tions ard mak the numbes of tha
combinatia as your answer If. nore
of the four combinatiors correcty rep-
resens the group of letters giv{e (5)
i.e. 'None of theséasyour answer

Letters PlZ|K{A|F| 1} D|RIM]|GQ[EW

w

DigtSymbol | 6| 913] 8| 5| 214 |7 |#|7]e]sf|e

i
\

Conditions: #; =

@) If the secomnl|letter isaconso
nart ard the lad letter isavowel,
their codes are to be inter-
changed

« (ii) If the secoml as well as lag
letter isaconsonantead ore is
to be codal as the code for the
letter F.

y(iii) If the third as well as fourth
“letter is avowel, then eah one
isito be codal as'P’

30. SDGPA

(1) ©81624
(2)©82614

3L

32

33

34

35.

(3)©4168

(4) ©26184

(5) Nonre of thes

ZIEAKM

(1)923P(3 (2)92853¢
(3) 92PPE  (4) &2583#
(5) Noneof thes
WARMFQ

(1) %O7#8B  (2) %87#E
(3) NPHIP  (4) %780%
(5) Noneof thes

EDSKIM

() 5@4#2 (2 54@3%

(3) 5%3@3% (4 5@%$3%

(5) Noneof these

DEQGFA

(1)450198  (2)$584cL i

(3) 8% 1450 (4) 81 $540
(5) Noneof thes
MKEZAI f |
(1) #3598 I

(2) #2598 J

(3) #5392

(4) #2538

(5) Nonre of thee ; ;
Directions (36- 40) : Study the

-

following arrangemencaréefdly” ard

answeithe questios giv

4%

36,

41.

42.

43.

44,

below :
ZYAS56*©@7PILETQSB
1MUIX%
Which of the following is the
fourth to the left of the tent from
' the right end of the abow ar-
rangemen?

37.

38.

39.

40.

d)B . (2)7

3L (4 E

(5) Noneof thee

How mary such numbes ae
there in the abowe arrangement
ead of whichisimmediatey pre
cedal by a numbe ard na im-Is
mediatey followed by aletter ?
(DNone (2 Ore

(3) Two Y (4 Three »

(5) Morethan thr

If all the symbosardletters from
therabow arrangemen areR
drapped which of the following!
will be fifth from the left erd of
the abowe arrangemen?

(1)4 (2)3
3 5 @7
' (5)8

How mary sud consonargae
there in the abowe arrangement:
ead of whichisimmediatey pre
ceddal by aletter ard immediatey
followed by a vowd ?

(DNone (2) One

(3) Two (4) Three

(5) Morethan three

Fou of the following five are alike
in a certanh way basel on ther
positiors in the abowe arrange
mernt ard so form agroup Which
IS the one tha does nat belorg
to tha group ?

(1)4ZA (2)$Y5
(3)CU% (4 PTS
(5) @LT

Directions (41- 50) : In eadt of the questios given belov which one of
the following answe figures on the right shoutl come afte the problam figures
on the left, if the sequene were continuel ?

Problem Figures

Answer Figures

A A o] O [s] E 0 O A O E

£ A O E E

0 E O E A E A AlE A E A 0 A
n 12} (3) {4) _ (5)

o | | e | [ o | o |
(1) {2) (3) 4) {3}

$ %X &~ | 22T
(1) (2) (3) (1) 19)

P\ | | | | e O B
@m @ B @ ®
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m @2 @3 @ 6B

45, I:ijE E E} E
g

46. _®-

@ @ @ o3

ald o>l § |

{1 @ @ @ (5

© A ] a *

ﬁlg———u " L° O Ola ola ola
4 * 2 L O .——A Q * * (o)
@ & @ o
. @ /@5’ \@» é :@_ Q /@ ‘Q ‘E‘l
(n (2 3) (4} (5)

* * * o *OA TR T Y LT X08 [ LT IR T

0 I gus [aua [gea” (8240 Boa
=l gu8 [au2 oud [gua [gud
(m (@ 3 (4 (5)

NUMERICAL ABILITY

Directions (31 - 78) : What will
come in place of the question mark (?)
inthe following questions ?

Bl.48+3x5=7

(i) 85 {2) 68

(3 80 9 a8

(5) None of these

52. 1254 + 32.44 - 34.87 =7

(1 10.31 2 11.11
(3) 1063 {4} 10.11
(5) None of these

@ 3,7 1_
5 10 2
n 2 @1
SRR
3 10 '(4] 10

(51 None of these

5. 24% of 125 =7
(1 25 2) 30
(3) 40 4) 24
(5) None of these

58, 2 -524+62=7
(1) 27 2 37-
(3) 32 (4) 46
(5) None of these

86. /280 -15="7

(1 5 (2) 6
(3 7 T4 4
{5} None of these

87- 425 + 363 - ? = 536

(1} 230 (2) 232
(3} 240 (4) 252
(5) None of these

88. 256 + ?=8

2 24‘

(1) 16

(3) 32 (4) 36
(5) None of these
36+16x36+9

— 5 =

(1) 40 {2) 50
3). 80 4) 100

(5) None of these

1 2
60. -of = of360="7

375
(1) 48 {2) 56
(3) 60 (4) 68

(5) None of these

B81. 162.5 + 320.8 = 4206 + ?

(1) 60.7 (?) 48.9
(3 62.7 (4) 74.6
{B5) None of these

8T ,a
as 48 7
{n l—l" | 7
36 @ 33
(3} '!E- 11
3 W3
(5} None _of these
a2 s
Lk I :
6 -28 _
1 5
o 2
(1} 1 2} 8
(. 10 @ 7
(5} None of these
. 30% of ? = 54
{1} 160 2) 145
3 170 4) 180

6b.

70,

(5) None of these

3994 + 4836 - 21.76 = ?
{1) 63.64 . (2) 66.54
{3) 68.74 (4) 69.56
(5) None of these

7 -12=1
(1) 13 (2) 159
(3) 169 4 17

(3) None of these

. 3x4+18+6-10="7?

m 4 () 5
B 7 (4 6
(5) None of these
I x3+ 35 =3

(1) 10 {2) 16
3-8 4 11
{5) None of these‘
3 E =121
?
(1} 6 2 4
3 8’ 4} 9

(5) None of these
950 - 237 = ? - 187

(1) 850 (2) 760
(3) 980 (4} 870
{5) None of these
(%6 B
7
(1} 2 @2 3
3 4 4 7

(5} None of these



73.

74.

75.

76.

7.

78.

79.

. 52% of ? = 182

(1) 354 (2) 350
(31 360 (4 380
{5) None of these
324 - 225

HeT ARV o3

.7

Q 27 (2 66
(3) 45 4 33

(5) Noneof thes
1 1

273 _83 =9

(1) 1 2 2
(3) 17 4) 19
(5) None of these

468 + 4x 5-28 =7
(1) 200 (2) 300
(3 400 ' (4 450

(5) None of thes

If the perimete of asquaeis48
cm. wha is the measue of its
side ?

(1) 8cm. (2 10cm.

B 12cm. (4 16cm.

(5) Nonre of thes

If asum of Rs 736 isequally di-
vided amorg twenty three people
then how mudh amoun will ead
persa get?

(1) Rs30 (@ Rs 32

(3 Rs 42 (4 Rs 46 .
(5) None of thes

The ratio betwea the persen
ages of Ram amd Rahimis 3 : 2
respectively Also, the ratio be-
tween the presenages of Rah'n{i
and Aman is 5 : 2 respectively
What is the ratio betwea the
presemn ages of I%am and Aman
respectivey ?

(1) 4: 15 2 4
3 9:5 ’Jf L
4 Cannmbedetelmind

(5) Noneof thes
If (7)’ isaddeal tolanumber the
value so obtainel is 52. What is
the numbe ?
@ 6 2 8
3 5 @ 3
(5) "Nonre of thes

5 3 6 11
Ot of ths fragtisns = 19 1115

3
and 5 - which is the second
highest fraction? '

81

84.

L

Vi

85.

86.

87.

(5) None of these

If the cost of 28 pens is Rs. 420
then what is the cost of 20 pens?
(1) Rs. 260 (2) Rs. 280

(3} Rs. 300 (4) Rs. 320

(5) None of these

Jyoti had 620 toffees, out.of
which she gave 220 toffees to
Disha and 130 toffees to Jasmine.
How many toffees were remain-

" ing with Jyoti?
(1} 250 2) 280
(3) 260 {4} 290

(5) None of these

What will come in place of both
the question marks (?) in the fol-

lowing equation?

(7 18

32 @ \/
(1 26 @ 34 "f
(3 36 4 24 o
(5)'None of thes I

Theprofit made on selling an item
of €od price of Rs. 1,69 is Rs
210. What is the selling price of
that item?

(1) Rs 1820 (2) Rs 188

(3) Rs 1760 (4) Rs 1920

(5) Nonre of thes

The spee of atrain is 60 km/
hr. Thedriver exceedthespedal
of train by 12 km/hr. What is
percen gain in sped of train?
@ 12 2 15

) 20 4 25

(5) None of thes

The area of a rectangé is 221
squae metre ard itslengh is 4
metre more than its breadth
What is the measue of its
breadtl?

(1) 13 mete (2) 14 metre

(3 17 mete (4 19 metre

(5) None of thes

The presemn age of Surg is six
times the age of Vijay. Also, Vijay's
presemnageis 20 yeass lessthan
Surajs age What is Surajs
presemage?

(1) 20yeas (2) 22years

(3) 18years (4) 16years

(5) None of thes

88.

89.

91.

92.

93.

A numbe when addel to two-
third of itseff gives the value 150
What is tha numbeP

(1) 60 2 75

(3) 80 (4) 90

(5) None of thes

What will be the simple interes
accrue on as of Rs 4,050 {
- a arate of 86 p.c.p.ain 2;
year® 4

(1) Rs 608 {

(2 Rs|670 F

(3) Rs 640

(4) Rs. 648

(5) Noneof'these

Ajit has Rs 26 more than Anuj.
Ar\luj has Rs. 60 morethan Ravi
If all of thethreetogethe hawe
tota of Rs. 200, then how mud
amour does Ajit have?

(1) Rs 78 (2) Rs 68

B Rs 14 (4 Rs 106

(5) None of thes

In atest a candidaé got 38L
marks less than the minimum
passimg marks If the minimum
passimg marks are 230, then
how muach marks did the candi

dateget?
(1) 200 2 18
) 12 @4 1

(5) Nonre of thes

Fifteen men can complet a piecé
of work in 20 days How many
men will compleé the same work
in 25 day®

H 12 (2 13

3 10 4 8

(5) None of thes

In how mary differert wayscan
the letters of the word 'SOME be

arrange@
(1) 20 2 24
) 16 4 30

(5) None of thes
Directions (94-95) What shout

come in place of questian maik (?) irfj
thefollowingnumbe serie®

94.

95.

79 12 16 21 27 (P
(1) 29 @ 33

(3) 36 @ 34

(5) None of thes

256 128 64 32 16 8 (9
1 6 @ 5

Q) 3 @ 2

(5) None of thes



96 What is the averag of the fol-
lowing sd of number®
112 102 133 116 ard 127
1) 108 (2 118
(3) 128 4 110
(5) Nore of thes

Rajiv purchasé six calculatos a
the cog of Rs 690 How mary
claculatos can he purchas from

o7.

Rs 920 ?
@ 8 @ 9
@ n @ 12

(5) Norte of thes

98 The area of acircleis 154 squae
cm. What isitsdiamete? «
(1) 8cm (2 7cm.
B3 14cm. (4 22cm.
(5) Nonre of thes

99 The ratio of the angles of a tri-
angk is2 : 3 : 5. What is the
sum of the smalles ard the larg-

ed angle®
@ 120 @ 122
) 144 4 126

(5) Nonre of thes

100. Wha leags numbe should be
subtracted from 980 to make it a
perfed square "
Q) 20 2 23
) 18 4 17
(5) Noreofthes

ENGLISH LANGUAGE

Directions (101-115 : Rea the
following passagcarefully ard answe
the questios given below it. Certain
words hawve been printed in bold te help

yau locate them while answering ?orre -

of thequestions |

In avillagein the East there lived
an old couple They did not hawe any
children ard neve spen an extra paisa
onthemselvesThey nelie repaire
ther house or cooked goad food. One
day'a family moved into thé yillage. It
wes ther sons secom bir}day'raml
they sert two delicious laddocs to the
bd couple Thecoupk atetheladdoas
with gred relish For days after they
coud talk ef nothing else [Finally the
dd man could take it no mare He sad
to his wife, "Let's buy thelingrediens
to male just two laddoos' His wife
agred but'said "If | maketheladdoc
at hometheneighbouswill know ard
wil wart a’share Let's cod in the
woods behird our hut Tha way no
oaewill eve know!"

The next day the old man pur-
chasel the ingrediens from the mar
ket ard they sd off to thewoods Hawv-
ing neve prepard food like this be-
fore, they endel up with three laddos
insteal of two. The old coupk returneal
home with the sweets dying to ea
them But therewas aproblem "It was
my ideaand | wert to the market so |
ough to get two," sad the old man
But his wife refusel to give in so eas
ily and said "Since | preparé the
sweets | ough to hawe two. "The day
wore on ard the argumemncontinued

At last theold man suggested'Let
us not talk to ead other Whoeve
breaks the silenc first will get one lad-
doo ard theothea persam two." Hiswife
agreed Hours passed but neithe of
them spolke ard finally they fell asle@
withthebow of sweesbetwea them
That evenirg one of the neighbous
knocked on the doa b,u _the coupke
did nat answe for fear,dfklosing the
bet Peerim through thé window, the
man saw the coupk lying on the floo
with an untouche bow of food. "They
are dead! He shout@ ard alertetl the
othe villagers Somthedoa w o
ken down ard the house was swarm
ingwithvillagers They discussd ew
erything from the funera to wherethe®
couple had*hidden theirr wealth' But
the coupk lay still. 1

F?ﬂ@lly,*ftlhevillagerscarrie:ithem
to'iecreﬂnatim ground Asthe flames
lickedihis feet the old man jumped up
S€reamilg "Youwin!" Hiswife jumpead
up too, hapyy tha she had won. The
two then rushel home leaving the be-
wildered villagers presethther behind
But when they got home... Alas the
{doar had been left open ard they fourd
a stray dog licking the last crumbs of
the swees from the bowl.

101 What cause the old couples
sudde longing for laddoc ?

(1) They hadnt eaten goad food
for severadays

(2) They had attende their
neighbours party and en
joyedtheladdos servel

(3) They sav the mouh water
ing laddoc being serveal to
guess at the party

(4) They had tasta the laddos
prepare for ther neighbous
sons birthday

(5 They though tha the lad-
dooswould satisf/ their hun
ger for days to come

102 Why did the old coupk codk in

the woods ?

(1) It was very conveniem to
gathe firewood

(2) To avoid the risk of their hut
burning down

(3) To kee the facd tha they

were preparig laddos ase
cret from their neighbous

(4) To hide the fad tha they did
not know how togprepae lad-
doas from their neighbous

(5) They did nat hawe the‘ingre-
dients to make enoudn lad-
doos f?r their neighbaous as

well

Which of the following can be sad

abou the old eoupk ?

() They did nat hawe ary rela

i tives to look after them in
thfeir old age
(2) They were mises ard did nat
sperd even on keepirg their
housingoad condition
(3) They were nat allowed to ea
swees as they were old
(4) They were fond of animabk
and sometime sharel ther

r food with stray animak

" (5 They were afraid of the vil-
lageis ard hid from them

Which of the following is/are

Tru e in the contest of the pas

sage ?

(A) Theoldwoman had prepare
more laddoa than she had
intended

(B) The family who had recenty
move into the village were
fond of the old couple

(C) Thevillagerswere saddené
by the deah of the old couw
ple and gawe them a grard
funeral

(1) Only (A)

(2) Only (B) ard (C)

(3) Only (A) ard (B)

(4) All (A), (B)and (C)

(5) None of thes

Why did the neighbouw pe@ into

the old couples hous ?

(1) To leam wha they were be-
ing so secretiv abou

(2) To spy onthem ard discove
where their wealh was hid-
den "~

(3) To complan as they had
cooke in the foreg

103

104
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(4) To ched up on the old cou
ple as he did everydy

(5) Not clearly mentiona in the
passag

What puzzleal thevillagers ?

(1) Theold coupkdid not diein
the fire

(2) The sight of the old coupk
whom they had presumd
dead alive

(3) The fad tha the old coupke
had wastel goad food

(4) The lack of concen the old
woman had for her husbau

(5) The old coupk fed the lad
doaos to the dog

Why did the old man screan

when surroundd by the villag-

ers ?

{1) He was afrad tha his wife,
would get burna

(2) To scae awey the villagers
who wanted to kill him for his
money

(3) Hiswife refusa to allow him
to ed more than one laddm

(4) To indicat to the villagers
that he Was alive

(5) The fear of being hurt in the
fire

What did the old coupk disagre

abou®

(1) Wherethey would codck their
med

(2) Which of them was entitled
to the first laddm

(3) Whethe to shae the extra
laddoo with their neighbous

(4) The quantiy of laddocs.that
they had mace r

(5 Nonre of thes {

What was the villager's reaction

to the old couples presumd

‘death ? g

(1) They were upseé afd all carre
to pay their lag respecs

(2) They wereworrieda ou how
to pay for the funer#D

(3) They could nat decice wha
to do with the coupleswealh

(4) They disliked the old coupk
arnd demolishe their house

(5) They dutifully arrjngel the
couples lad rites

Why did the old coupk initially

not revea that they were alive to

thevillagers ?

(1) To leam the villagers true
opinion of them

(2) They did nat like the villagers
and were mocking them
(3) Neithe of them wanted to be
the first to spe& ard lose the
bet
(4) To ted the honesy of the vil -
lagers
(5) None of thes
Directions (111-113 : Which of
the following ismog similar in mean
ing to the word given in bold as usel
in the passage
111 SHARE
(1) haf (2) pat
(3) participae (4) divide
(5 commm
BREAKS
(1) interrups (2) separate
(3) solves (4) defeas
(5) escape
PASSED
(1) overtok (2) occupiel
(3) unnotica (4) e%:sﬁel
(5) succeede !- J
Directions (114-115) Which s |
most opposite in meaniy to the gord'
given in bold as useal In the passa
114 STILL

112

113

(1) restles (2) noisily
(3) consciows (4) calmly
*e (5 Iifeli % r
115 LAST
(1) hew (2) begn
3) constah (4) discontine
w=(5) first

Directions (116-125) Red
ead sentene to find out whethe there
isany grammaticahmistale errar in it.
Theerroy, if any, will bein one patt of
tlﬁe sentenceMark the numbe of the
answer If there is no error, mak '5".

116 Themainadvantagof (1) /invest
ing sud schems (2)/ istha you
will not (3)/ haweto pay ary tax-
es(4). Noerra (5)

Tha custome has (1)/written a
letter (2)/ thanks the manage
(3)/ for he timely help. (4). No
error (5)

Our compaly was recenty (1)/
awamd the contrad¢ (2)/ to con
strud two maja (3)/ bridgesin
the state (4). No errar (5)
Accordingly thecircular (1)/ tha
was issual yesterds RBI (2)/ has
raisad the rate at (3)/ which it
lendsto banks (4). No errar (5)

117

118

119

| 125

120 Their compaly is going to incur
(1)/ heaw losses this yea be
cau® (2)/ of the big discouns
they (3)/ offers to customers.(4)

No erra (5)

121 A large numbe of policy (1)/ hawe
. lapsa& becaus mary (2)/ peo
ple hawe nat paid (3)/ their in-
stalmens on time. (4). No error (5
The Foreigh InvestmetnPromo
tion Boad is (1) / the governmenh
body who (2)/ reguldte invest
mertreceiveal (3)/ by Indian fac
toriesfromforeign countri_?§(4).
No erra (5)
Thefinal deéision can (1)/ belfak
enonly afta (2)/ we conside al
(3)/ the pané suggestions(4). No
errar (5) v
If hisaimisto (1)/ buy ahousin
the (2)/,nex three yeass he (3)/
shouH istat immediae saving
(4). No erra (5)
Can you explain why (1) / you were
late this morning (2)/ when we
had to make (3)/ suc an impor
tant presentatio ? (4). No erra (5)
Directions (126-130) In eadt

question belov asentene with four
WOII;d.S printed in bold type is given
Thesarrnumberdas(1), (2), (3) ard
(4). Oneof these four words printed in
bold may be eithe wrongly spet or
inappropriat ein the contex of the sen
tence Find out the word which is
wrongly spet or inappropriate, if any.
The numbe of tha word is your an
swer If all the words printed in bold
are correcty spet ard also appropri
ate in the contex of the sentence
mark (5) i.e. 'All correct as your an
swer.

122

123

124

126. He found (1)/ the compaly in
1980 to provide (2)/ electricity
to peopkliving (3)/ in rurd ar--
eas (4)/ All corred (5)

Salaries (1)/ of bark employees
(2)/ arelikely (3)/ to. go abowe
(4)/ by ten per cent All corred
®

128 The Chairman has promissead
(1)/tolook (2)/ into the matter
(3)/ ardtakenecessay (4)/ ac
tion. All corred (5)

Since (1)/ the interes rate on
bark deposis is low (2)/ at
present peopk prefer (3)/ to
deposi their savings (4)/in pog
officeschemesAll corred (5)

127.

129



130 Most (1)/ project are delayed
(2)/ becaus of the absens (3)/
or prope planning (4)./ All cor
red (5
Directions (131-140) In the fol-

lowing passagtheee are blanks ead
of which has been numberedThes
numbes are printed belov the pas
sage ard againseach five words are
suggestedre of which fits the blark
appropriately Find ou the appropri
ateword in eah case

(139 than he gallopel away But hear
ing the merchan (140 ou to him, he
stoppel when he was a sak distane
away "Pleagsdont tel anyore how you
cane to possesthis horse Sone day
an ill man may be lying by the road
side ard peopéwho hawe head abou
your trick, may na wart to help "sad
the merchantThe merchans neigh
bou was deepy ashamedrode badk
ard returnel the hore to the mer
chant

A rich merchahowned abeauti  131. {1} sell {2) buy
ful horse Now, ore of his neighbous (3) steal (4} free
was keen tq (1311 this horse He of . (5)irain
fered the merchan gold, (132 the 132, (1) since {2} so
merchan refused This angerd the - (3) unless (4) otherwise
neighbour He (133e| tﬁ trlckfthe mer (5) but
chant He disguis imsef (134 a » ;
begga ard lay down a the (135 of 133. (1) dec.ewed _(2) des:_res
the road tha the merchanhusel ew (3} decided (4] declined
eryday (136 a the sal plight of the (5) dellberately
beggar he (137 from his horse ard  134. (1) similar (2) being
gentl lifted the begga (138 hishorse (3) alike (4} as

No soone did the begga get into the

{5) identical

CLERICAL APTITUDE

-

\ﬁ}

135 (1) side (2) middie
(3) gutter (4) endirg
(5) distane
136 (1) Unhappiy
(2) Carefully.
(3) Distressd
(4) Misely
(5 Upsettingy {
137 (1) climbed 2 opal
(3 jump { 1
(5 dismountel I
138 (1) onb (2) with
(3) aboe (4) from
(5) off '
. 139 (jway (2) saddk
(3 ams | (4 hore
(5) dange
14Q {}) beg (2 appeh
| (3) shoutd 4) cal
. (5)crid,

&
J

Directions (141-165) In ead questiam belonv acombination of Nane ard Addresis given in the first unnumbere

colurm at the left followed by four sud combinatiors one ead unde the col

rs 1,23 ard 4. You hawe to find ou the

combinatian which is exacty the sane asthe comblnatltm inthe first unnumbere column The numbe of tha columm
which contairs tha combinatio is the answer If g!lithq‘comblnatlos are different the answeis'5".

1 24 3 4 5
141 MansiAroa ManviArora l\hams Arora Mans Arora Mans Arora Nore
SagarAps SagaApts wSagarAps SagarAps SagarAps
Van Vihar Van! Vihar Ban Vihar Van Vihar Van Vihar
. M.P.-& M:P.-82 M.P.-& M.P.-& M.P.-2
142 Sonan Mishra SonaMishra Sonan Mishra Sonan Mishra Sonan Mishra * Nore
L.H. Roal L.H. Roal | ( L.K. Roal L.H. Roal L.H. Roal
TPS- I TPSE il TPS- TBS- I TPS- 1l
NewDelhi-QL NewDelhi-aL NewDelhi-aL NewDelhi-QlL « NewDelhi-aL
143 AnishSharma Anish Sharna Amish Sharna AnishSharma Anish Sharna Nore
122 B-Wing 122 B'Wing 122 B Wing 122 D Wing 122 B Wing
Symphory Soc SymphoryiSoc Symphory Soc Symphory Soc Symphory Soc
* Mumbai-41L Mumbai-411 Mumbai-411 Mumbai-411 Mumbai-14
144 Delta Const DeltaConst DeltaConst DeltaConst DeltaConst
Secto 15 Secto 126 Secto 15 Secto 15 Secto 15
D.N. Roal D.N.\Roa D.N. Roal *D.M. Roal D.N. Roal
Noida Noida Noida Noida Noidu
145 Nagpal&Sos Nagpa & Sors Nagp4 Sors Nagpé & Sors Nagp4 & Sors Nore
Opp B.T. Colory Opp B.T. Colory  Opp B.T. Colory  Opp B.T. Colory Opp B.T. Colory
Panchkuk Panchkuh Panchkud Panchkuh Panshkud
Tel-311986@ . Pin-31198@ Tel-31198G Tel-311986¢ Tel-311986G .
146 Reva Stores Rewa Stores Rewa Stores Rewa Stores Rewa Stores Nore
IndiraMkt. IndiraMkt. Indira Mkt. India Mkt. Indira Mkt.
Block A Block A Block A BlockA BlockA
Fa : 23195 Fax : 231958 Fax : 231958 Fax : 23195 Td : 231956
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158

KishoreTet
IFCI Plaa
G.N. Marg
Rourkela-D

Ajantalnc
Rupali R-19
Nea A. B. Est
Pin-7fr 84

V. Muttiah

A-81Janaki
Anna naga
Chenna 10

Manal Cente
Sart Enclawe
Opp. Bus Depot
Patlah

Sana Mehia
Plot 24/2
Secta XII
Rohin

Ganechar Ent
Anard Bhawan
Indore - 18
Ph. 408446l

K. C. Chowdheiy
Asha Hsg Soc
Rajarha
Kolkata - 56

Agarwd Farnms
105/49C
Kovilpatti
Souh 62850

Sanjeg Varma
Shalima Sq
26, Lalbaw
Lucknow-26

Nitin Assoc
A/102 Orion
Tolstg Bldg
Faridabad-92

C M X Systens
Todi Indl. Est
Nea Faortis
Dehra(iun -12

Sori Electronis
E-17, CHS,
Susneh
Nagpur 41

Kishore Ted
IFCI Plaza
G.N. Marg
Rourkela-D

Ajanta Inc.
Rupali R-91
Nea A.B. Est
Pin-70008

V. Muttiah
A-81, Janak
Anna Naga
Chenna 10

Manal Cente
Sart Enclaw
Opp. Bus Depot
Patiah

Sonia Mehta
Plat 24/2
Secta Xll
Rohin

Ganechar Ent
Anand Bhawan
Indore - 81
Ph 40844@al

K. C. Chawdhay
AshaHsg Soc
Rajarha
Kolkata - 56

Agrawd Farns
105/49C
Kovilpatti
Souh 62850

Sanje& Veirma {
Shalima Sq
26, i_albalg
Euﬁknow-%

Nitin ssoc
A/102 Orign
Tolstg Bldg
Faridabad-9

C M X Systens
TodijIndl. Est
Nea Portis
Dehradun - 12

Son Electronis
E-71, CHS
Susneh
Nagpur 41

Kishore Tedch
IFCI Plaa
G.N. Marg
Rourkela-D

Ajanta Inc.
Roopali R-19
Nea A. B. Est
Pin-70008

V. Muthlah
A-81, Janak
AnnaNaga
Chenna 10

Manal Cente
Sart Enclaw
Opp. Bus Depot
Patiah

Sana Mehta
Plat 24/2
Secta Xl
Rohin

Ganechar Ent
Anand Bhavan
Indore - 18
Ph. 408446l

K. C. Chqﬁwdhay
Asha Hsg Sec
Rajarha
Kolkata-56

Vi

~Agarwd Farns

105/94C
Kovilpatti
Souh 6285

Sanje® Varma
Shalima Sq
26, Lalbaw
Lucknow-26

Nitin Assos
A/102 Orion
Tolstg Bldg
Faridabad-2

C M X Systens
Todi Indl. Est
Nea Fortis
Dehradun - 12

Son Electronis
E-17, CHS
Susneh
Nagpu - 41

Kishore Tech
ICFI Plaa
G.N. Marg
Rourkela-D

Ajanta Inc.
Rupali R-19
Nea A.B. Est
PIn-70088&

V. Muttiah
A-18, Janak
AnnaNaga
Chenna 10

Manal Cente
Sant Enclaw
Opp. Bus Depot
Patiah

Sana Meh&
Plet 224 =
ecta Xl
J Rohini
! |
Ganechar Ent
Anand ‘%
Indore

?m
Ph 408446l

K. C. Chgwdhay
AshaHsg Soc
Rajagha
Kolkata - 56

Agarwd Farns
105/49C
Kovilpatti
Souh 6285

Sanje® Varma
Shalima Sq
62, Lalbaw
Lucknow-26

Nitin Assoc
A/102Drion
Tolstg Bldg
Faridabad-2

C M Z Systens
Todi Indl. Est
Nea Fortis
Dehradun - 12

Son Electronis
E-17, CHS
Susneh
Nagpur-#4

Kishore Tedch
IFCI Plaa
G.N. Marg
Raurkela-D

Ajanta Inc.
Rupali R-19
Nea A.B. Est
Pin-70008

V. Muttiah
A-81, Janak
AnneNaga
Chenna 10

Manal Cente
Sart Enclawe

+« Oppt Bus Dep'éltF
’.Patiah

-Sania rI.\/Iehia

Plat 24/2
Secta XII
Rohin

Ganchar Ent
Anand Bhawan
Indore - 18
Ph. 408446l

K. C. Chowdhay
AshaHsg Soc
Rajarha
Kolkata - 56

Agarwd Farns
105/49C
Kovilpatti
North 62850

Sanje® Varma
Shalima Sq
26, Lalbadh
Lucknow-26

Nitin Assoc

A/102 Orion
Tolstoy Bldg
Faridabad-92

C M X Systens
Todi Indl. Est
Nea Fortis
Dehradun - 21

Son Electronis
E-17 GH S
Susneh
Nagpur 41

None

None

None

None

None

None

None

None

None



Prasa Media

Prasa Media

Prasa Media Prasa Media Prasa Media None
S. D. Layout S. D. Layout S. D. Layowt S. D. Layout S. D; Layout
Tirupati, 19 Tirupati, 19 Tirupati, 19 Tirupati, 19 Tirupathi, 19
Ph. 228662 Ph. 228862 Ph.22866D Ph. 228662 Ph. 228662
Saha Corp. Saha Corp. Saha Corps Saha Corp. Sahg Corp. None
7/D 'S Malda 7/B 'S Malda 7/D 'Sii Malda 7/D 'Shii Malda 7/D Sr Malda
Nageshwa Nageshwa Nageshwa Nageshwa Nageshwa 1
Bhubaneswa Bhubaneswa Bhubaneswa Bhubaneswa Bhubaneswa'::
161 PandaXerox PandaXerox Pandy Xerox PandaXerox PandaXerox {/ None
87, Ansai St. 87, Ansai St 87, Ansai St 78, Ansail St 87, Anlsari St \
Besan Rd. Besarn Rd. Besan Rd. Besan Rd. Beagam Rd. F
LIC Colony LIC Colony LIC Colony LIC Colony LIC Colony
162 SkyzCables Skys Cables SkyzCables SkyzCables SkyzCables None
3 B Raman 3 B Raman 38 Raman 3 B Ramarn 3 B Ramalfi
New Enclawe New Enclawe New Enclawe New Enclove [ “New Enclaw
Jaipu - 52 Jaipu - 52 Jaipu - 52 Jaiplr - 52 L Iflaipu-52
163 M.J. Bhatia M.J. Bhatia M.J. Bhutia M.J. “Bhatia M. J. Bhatia None
42. C.H. Avenue 42, C.H. Avenue 42, C.H. Avenue 42, C.HlI Avenue 42, G.H. Avenue
RNA Complex RNA Complex RNA Complex) DNA CcI)mpIex RNA Complex
Nashk Nashk Nashk .-r- ashk/ Nashk
Franc Publ Frank Publ Franc Publ Ftand Publ. Franc Publ None
Bungalow 9 Bungalow, 9 Bangalow 9 B alow 9 Bungalow, 6
Shant Hosp Shant Hosp Shant Hosp Shant Hos%.-" Shant Hosp.
Pune41100 Pune41100 Pune41100 Pune€Z41100 Pune41100
165 R. N. Pillai R. N. Pillay R. N. Pillai R. i Pillai B. N. Pillai* None
6 - Ramkun 6 - Ramkun ...\6 -ﬁRamkorj 6-'Ramkurj 6 - Ramkun
Moga Lane Mogal Lane \ I\,ﬁ_agal Lane Mogal Lane Mogal Lane
Mahim- 16 Mahim - 16 h 1 Mahim - 16 Mahim -61 Mahim - 16
Directions (166-170) Theletter 168 WAFLYX 173 (1) smal (2) smag
growp in ead question below is to be (1)75980L (2)79518 (3) smoke (4) smel
codified as per the following Ietté; (3) 790815 (4) 7915 (5) smile
codes (5) None of these 174. (1) role (2) roar
leter |B| 1| K|Y| LIFw!lP|AlX F'[ 169. PBKYXL (3) roas (4) rock
Number |6 | 4| 2 |8| 1| 7|3|9|0]|5 (1) 362810 (2) 326810 (5) rogue
Code " (3) 32860l (4) 362801 175 (1) relief (2) relax
You have to find out which of the (5) Noneof these g :Z'Izypf (4) regre
apswes (1) or (2) or (3) of (.4) '.haSthe Lo RYAwTS Directions (176-180) The news
gorred coded f.orn? of thelgiven .letter (1) 28976 (2) 29876 in each question below is to be classi
giow and indicate ft on the (3)2879%  (4)2897% fied into one of the following five ar
answersheetIf none ofl the codad (5) Noneofthes cas -
formsiscorrect mark (5)/i.e. 'None of Directions (171-175) Below in i
theséas the answer eadch question five words are given. (1) Politics
166 PXAWIB Which of them will come in the third (2) Socid Issues
(1) 3097&4 (2)/3079% place ifall ofthem are arrange alpha (3 Sp.ors
(35\ 309746 (4) 30967 betically. The serid numbe of that (4) Sf:|enceand Health
word isyour answer (5) Miscellaneos
(S)\gpnegfthes . 176. Foreign University to se up five
167 LYBXKI 171D adVéne (2) afrad campussin Indiaby March 2012
(1) 18602 (3 admire  (4) advere (1) Politics
(2) 1806 (5) admi (2) Socid Issues
(3) 184206 172 (1) detal (2) degres (3) Spors
(4) 186042 (3) desire (4) discus (4) Scien® and Health
deral

(5) None of these

(©)

(5) Miscellaneows



177.

178

179

Inflation hits all tiime high of 40
pe cent
(1) Politics
(3) Spors
(4) Scienearid Healh
(5 Miscellaneos

Fou Indian referes appointel
for Hockey World Cup.

(1) Politics

(2) Socid Issues

(3) Spors

(4) Scieneard Healh

(5) Miscellaneos

State sponsord climate study to

(2 Socid Issues

{gauge thred to Himalayan glaciers

180

Politics
Socid Issues
Spors
Sciene ard Healh
Miscellaneos
Raggirg incidens on the Rise -
Parens demonstrag outsice Uni-
versity.
(1) Politics
(2) Socid Issues
(3) Spors
(4) Scieneard Healh
(5) Miscellaneos

@

COMPUTER KNOWLEDGE

181

182

183

184

The mog widely usa input de

vice isthe___

(1) mous (2) keyboad

(3) modan (4 monita

(5) Noneof thes £ .

A CPU contains_ ' {

(1) a cad reade ard a printing
device ]

(2) ananalyticdgngire ard acon
trol unit

(3) acontrd unit artjanarithmetc
logic unit %

(4) an arithmetc lagic unrt ard a
cad reade |

(5) Nore of thes
The ability of an OS to run more

than one application at atimeis
called_

IKl) multitaskirg

(2) object-orientd programmimy
(8)-multi-use computirg

4 time sharirg

(5) None of these

Permaneninstructiors that the
compute useswhen it is turned
on ard tha canna be change

185

186

187.

by othe instructiors are con

tained in___

(HROM (2) RAM

(3) ALU (49 REM

(5) Noneof thes

Computatios ard logicd opera

tions are performel by the_

(1) RAM (2 ALU

(3) Registe (4) Contrd unit

(5) Noneof these

The beneft of using computes

istha__

(1) Computes are very fas ard
can store huge amounsg of
data

(2) Computes provide accura¢ -

outpu even when input is in-
corred g

(3) Computes a?designq,to be
inflexible |

4 All of thes«a-r i

(5) Nore of tHee | '

Developirg ses of in uctlorsfor

the compute to follog&?to do

the tak the sanme w

times as needd is call

() listing

(2)$§%quencig f

(3)y programmimgy

%, (9 directing

A7

189

190

) None of these
The tem use to define all input
and outpu devicesin acompute
systam is
(1) Monitor
(2) Softwae
(3) Sharel resourcs
(4) Hardwae
(5) Nore of thes

What type of resoure is mos
likely to be asharel commaon re-
soure@ in acompute network?

(1) Printes

(2) Speakes

(3) Floppy disk drives

(4) Keyboard

(5) None of thes

The vad netwok of computes
that connecs millions of peopk
all over the world iscalled__
(1) LAN (2) Web

(3) Hypertex (4) Interng

(5) Noneof these

191 Whichisnat anitem of hardwarée

(1) AnMP3file
(2) A keyboad

192

193

194 T

1

196

197.

198

(3) A disk drive

(4) A monitar

(5) Nore of thes

To shrirk awindow to an icon
(1) open agrowp window

(2) minimise awindow

(3) maximie awindow

(4) restoe awindow

(5) Nonre of thes

Computes connectdio aLAN ;
(locd area networRcan

(2) run jfaste r

(2) goonline

(3) shae information and/o '
shae peripherhequipmen

(49 E-mal [

(5) None of these

e portion tha shows all the
choices you can make while
working in a window is called
the

(1) optiors (2) table

(3) meruba (4) item bar
(5) Nonreof thes

is the proces of carryirg

out commands

(1) Fetchirng

(2) Storirng

(3) Decodirg

(4) Executirg

(5) Nore of thes

Which of the following is a com

mon extensio useal in the file

names for application program8

(DEXE (2)DIR

(3) TXT (4) bocC

(5) Noneof these

Which of the following is not true

abou password ?

(1) A passwod shout be acom
bination of mixed case alpha
numerc charactes

(2) Passwad shout be maximum
6 charactes in lengh

(3) A passwad tha can bememeo
rized easily shout be used so
that it need nat be noted dowri

(4) A passwod tha can be typed
quickly without mud effort
shoul be usal

(5) Nore of thes

A(n) —contairs command tha
can be selected

(1) pointe (2) meru
(3) icon (4) buttan
(5) Noneof these


http://www.doonedin.com/

199 is a sa of compute pro- 208 IT standfor. (3) Circular (4) Hexagona

gramstha runsor controscom (1) Information Technoloy (5) Nore of thes
pute hardwae ard acs as an (2) Integratel Technology 217. The nanme given to a documen
interface with application pro- (3) Intelligert Technolog by use is called
grans ard users . .
(1) Objed code (4) Interestig Technoloy (1) Filenane  (2) Progran
. (5) Nonre of thes (3) Data (4) Recod
(2) A compile . ) - f thes
(3) An operatirg systen 209, Somethiig which has easily-un ©) Nore o
derstoa instructiors is sad to 218 Wha is outpu®
(4) The CRU be . (1) Processptakesfrom use
(5) Nonre of thes _ (1) use friendly (2) Use gives fo brocesso
200 Anothg word for the CPU is____ (2) information (3) Processnges from usa
(1) microprocesso (3) word processig (4) Pracessogivesyfo use
@ execue (4) icon (5) None of these (5) Nore of thes -
(3) micro chip 210 Wha is the full form of KB re- 219 The blinking symbd which indi-
(4) decoce lated to compute? cates the nex characte will ap
(5) Nore of thes (1) Key Block  (2) Kernd Boot pea at which place is called
201 Hardwae devices tha are not (3) Kilo Byte (4 Kit Bit - (1) Delee key (2) Contrd key
part of the main compute sys (5) Nore of thes i “(3) Cursa (4) Retun key
tem ard are often addel later ©© 577 \Wha is the purpos.of Softwae (5) Nore of thes
the systen are__ . Documentin@ 220. A smal figure which depict sone
(1) clip art @ hlghllgkt (1) use ard intenane of soft application on the screa is called
(3) execue (4) peripherad ware F. i (HMenu (2) Phob
(5) Nore of thes (2) to sel softwae a handsore (3) Modem (4) Icon
202 Information on a compute is price | f (5) None of thes
stored as - (3) to sel softwae t‘ mary cus
{1) analg dat (2) digital data tomels
(3) modem dat (4) wattsdat (4) to shaw its importﬁi r
(5) Nonre of these (5) Nore of thes Y
203 If you wart to move an icon en 212 Rersona computes"are con
your desktop thisis called . necte to form .
(1) doubk clicking - _f;rl) Serve
(2) highlighting i #(2) Supe Compute
(3) draggirgy h | (3) Netwoik (4 Enterprie
(4) pointing - (5) Nore of thes
(5) Nonre of thes 213 What does happe inRAM
204 To” ___a documem mears to when compute is turned off?
make changsto its e>&jstirg con (1) Operatig Systen
tent - ( (2) BIOS
(1) forma (2) sawe (3) Softwae Application
(3) edit (4 print (4) Nothing
(5) None of the (5) Nore of these
205 Where'is the disk put to enabé 214 Whenyou sawe the following, the
the compute tosrgad it ? data would reman intad even
(1) Disk drive ({Me‘mory after turning off compute?
(3) CPU (4) ALU (1) RAM
(5) Nore of these' (2) Motherboad
(206 Which of the following is not an (3) Seconday Storag Device
exampe of hardwae ? (4) Primay Storag Device
(1) Mouse (2) Printe (5) Nore of thee
| (3) Monitor (4) EXCEL 215 All the deletd files go to
1(5) Nore of thee (1) Recyckbin (2) Tak bar
207. Which of the following is paitt of (3) Toao Bar (49 My Compute
the Systen Unit ? (5) Nore of thes
(1) Monitor (2) CPU 216. Wha is the shag of CDs?
(3) CD-ROM (4 Floppy Disk (1) Quadrilatera

(5) None of thes (2) Rectangula
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173 (5 | 174 (2 | 175 (1) | 176 (4)

1.(D

2.9

3.(2)

4.4

177.(0) | 178 @ | 179 (3 | 180 (4)

5.(3

6.

7.2

8.(4)

181 (5) | 182 (5 | 183 (5) | 184 (5

9.9

10.(2)

11 (3

12 (2)

183 (4) | 186 (2) | 187.(4) | 188 (9

13 ()

14, (4)

15. (4

16. (3

189 (4) | 190.(D | 191 (1) | 192 (1)

17. (1)

18. (5

19.(2)

20. (4)

493 (5 | 194 (1) | 195 (5) | 196 (4)

21 (3

22.(3

23 (4

24.(2

197. (5 | 198 (3) | 199 (4) | 200 (3)

25.(1)

26.(3

27.(9)

28.(4

201 (1) | 202 (3) | 203 (4) | 204 (5

29.(5

30.(3

31 (4

32 (4)

205 (5) | 206 (3) | 207. (1) | 208 (5

33.(9

34.(D)

35. (1)

36.(4

209.() | 210 (4) | 211.() | 212 3

37.03

38.(2

39. (5

40.(2)

213 (4) | 214 (5 | 215 () | 216 ()

41.(3)

42. (1)

43.(3

44.(3

217.(2 | 218 (4) | 219 (4

43 (4

46.(1)

47. (2

48.(2)

221 (5| 222 (@) | 223 (3 | 224 (3

49.(4)

sa @

51. (2

52. (1)

225 (4) | 226 (4) | 227.(4) | 228 (1)

539

54.(2

55. (5)

56. (2)

229 (5)

2309 2819 2823

57.(5

58.(1)

39.2

60. (2)

233 (4)| 234 (2235 (9 | 236 3

61 (5

62. (1)

63. (3

64.(5

237.(3 | 238 (I | 239 (3) | 240 (2

65 (9

66. (1)

67.(2

68.(1)

241 (9| 242 (| 243 ®) | 244 (1)

69. (4

70. (5

71. (3

72.2)

245 (9

734

74. (3

75. (5

76.(3)

246 (3) | 247. (? 248 (2

249 (5)| 250 (2) '

77.09

78. (4

79.2

80.(3

81 (4)

82 (5

83.()

84. (3

85.(3

86. (2

87. (4)

88.(5

89. (1)

90. (3

91. (5

92.( |}

930

94, (4)

95. (5

96.(4"]

97.(4

98. (3

99.()

100.(2)

101 (5

102 (5)

103 (4

104 ()

105 (9

106 (5)

107. (5)

108 (4)

109 (1)

110 (2)

111 (4

112 (5

113 (2

114 (1)

115 (3

116 (2)

117.(1)

118 (&)

S

120 (2)

121 (9

122 (5

1234

124 (1)

125 (3

126 (1)

12]

)

128 (4)

129 (5

130 (2)

131 (4

132 (5)

133 (1)

134 (1)

135 (3

136 (3)

137,2)

138 (3),

189 (39

140 (4)

141 (9

142 (1)

143 (5

144 (5

145 (5

146 (2)

147.(3)

148 (2)

1499

150 (4)

151 (2)

152 (4)

153 (4

154 (3)

155 (4)

156 (5)

157 (1)

138 (1)

159 (3)

160 (3)

161 (4)

162 (1)

163 (4)

164 (5)

165 (1)

166 (4)

167. (5)

168 (5)

169.(3

170 (4)

171 (5

172 (1)

E‘).(PLANATION? -y
%

L ____,@m‘é.....@‘. 10

27th 11th

M's position from the left end of
the row = (40-27) + 1 = 14th
2.(3)

how there —» ta da
welc}):ne herc pi ni
The code for ‘how' is 'ta’ or ‘da’.
3. {1} According to question

142783[5] 9
4.(4) 1 4 1021 19209 14 7
ADJUSTING

L 1
B. (3) Meaningful Words = BALE,
ABLE
6.(5 B U I L D E R
J V € K S F E
Similarly,

S E A L I NG

220 (3 |,

7.2 27TIBSR3W4 MG =7
=?=27-16+3x4+86
=?=27-5x4+6
=7?=27-20+8%13

8.4 WAVE WINS

144 Ll
5 % 3 % 5 9@0
Therefore, ’
S ANE
L4l
® % @ *

9. (5) Third highest number

=647

L 10.{2) T>Q>P. R S

PR Q>S5
Now, T>Q>P, R>S

11. (3} 6th to the lelt of the 20th from
the left end means 14ih from the
left end, ie.. W.

12, (2)

| Symbol [ Consonant [ Number }

There is only one such combina-

tion :

13. (1) According toquestion the new
. sequence would he :

BMR3JKDFE[O]W4NP2Y5Q276G

t

. 12th trom the righl end
14. (4) ['Letter | Number [ Letter |
Such combinations are :
[F69] . [wax| [P2s]
15. (4)

4
M +7:@ +7 +7 .Y

R +7 s F +7

J :7 9 +7

+7
>1

»Z

5+ %
» E
2 +7

(16-20) :

i} All windows are roads — Uni-
versal Affirmative (A-type).

(i) Some pencils are windows—
Particular Affirmative (-type)

(iii) No holder is lamp — Universal
Negative (E-type)

(iv) Some holders are not lamps —
Particular Negative (O-type).

16. (3] Some pencils are windows.
" All windows are roads.

I + A =» I-type of Conclusion

“Some pencils are roads”.



17.

18

19

20.

Conclusion IV isConvere of it.
Sone roads are cups

All cups are chains

I +A I-type of Conclusim
"Some roads are chains"

(1) All the four Premises are Par
ticular Affirmative (1-type) No Con
clusion follows from the two Par
ticular Premises

(5) All chocolats are holders

No holde is lamp.
A + E=> E-type of Conclusim
"Nochocolagislamp".

Sone lamps are desks

All desls are pens

| + A => 1-type of Conclusim
"Some lamps are pens'
Conclusia |l isthe Converg of
third Premise

Conclusios| ard Il Complemen
tary Pair Therefore eithe | or 111
follows.

(2) Some roons are planes

All planes are ducks

I + A =" I-type of Conclusiam
"Some roons are ducks"
Conclusia Il isConvere of it.
Conclusia lll isConvere of first
Premise

(4 Sonetens arejugs.

All jugs are glasses.

[ + A == I-type of Conclusion
“Some tents are glasses™.
Conclusion IV is Converse of it.

Some tents are glasses,

All glasses are pots.

I + A = I-type of Conclusion.
“Some tents are pots”.
Conclusion I is Converse of it.

All Jugs are glasses.

All glasses are pots,

A + A = A-type of Conclusion
“All jugs are pots™.

21. (3)

22. (3)

23.4 A

(26-30) 5z

w o~ =2
&« [T O — * — o
&
NLEe <
N

“— >
* «—
#* « T

=
Ne<g ®em
@ «

4

4
4

Condition (if)

& & -
a«t(—
af

o — T

pplicable.

(2)THAFI1Q

Pl ldid
1$48@3
Condition (if#) is applicable

BW(NVDWMETIT JU

N A N A
@ # 2@9 ©

Condition (i} is applicable.

* =2|% =<

S=>|@== |

26.3)J8D=J>D

D@K=D<K
K%R=K<R
Therefore,
"J>D<g<K<R
Conclusions ;
I. R6§J=R>J : Not true
I[I. RSD=R>D: True

ML.K$J =K>J: Not true

2725 Mx K=MK

K@R=K=R
R%N=R<N
Therefore,
M>K=R<«<N
Conclusions :
I. R% M =R <M : Not true
II. R@&M =R =M : Not true
R is either smaller than or equal
to M. Therefore, either I or Il is
true.
NILNSK=N>K: True

28.4) B% H=>B <H

HSJ=H>J

JeM=J>M
Therefore,

B<H>J>M
Conclusions
I. B%J=DB«<dJ: Not true
II. M% B=M«<B: Nol true
HM.HSM=H>M:True

Step I

32. 4}
Step 11

Step 111
Step IV
Step V

Step V1

20.5) ZOK=Z <K

K®%E=K<E
E@R=E=R
Therelore, '
Z<K<E=R

- Conclusions :

. RSK=R>K:True
. Z% E=Z<E: True
. RSZ=R>2Z: True

"B0.33W@M=W=M

MO@R=M=x<R

R$F=R>F
Therefore,

W=M<R>F
Conclusions
I. F% M=F < M: Not true
II. R*W=R2>W:True

1. W % F =W < F: Not True

(31-335) : After careful analysis of the
. given input and various steps of

rearrangement it is evident that
in the first step one word is rear-
ranged and in the second step one
number is rearranged. These two
steps are repeated alternately uniil
all the words are arvanged alpha-
betically in the reverse order and
all the numbers are arranged in

31.(4)
Input

descending order.
: glass full 15 37 water now
85 67
: water glass full 15 37
now 85 67

Step Il : water 85 glass full 15 37

now G7

Step lII: water B85 now glass full

15 37 67

Step IV: water 85 now 67 glass

full 15 37

Step V : waler 85 now 67 glass 37

full 15
Step V is the last step.
cultra 73 12 16 mail sorl
39 kite
rultra 73 sort 12 16 mail
39 kite -
:ultra 73 sort 39 12 16
mall kile
:ultra 73 sort 39 mail 12
16 kite
cultra 73 sort -39 mail 16
12 kite

Step VIl tultra 73 sort 39 mail 16

kite 12

33. (4) From the given step, Input can-

not be detertnined.



67.

(2 In ead subsequemnfigure one
curve rotates through 90° clock-
wise while the other curve ro-
tates through 90° anticlockwise
Again, the following change oc-
cur in othe desigrs as shown
below:

@) to (2)

I K

@103,

N N

68.

70.

These two step are continuda
alternatey in the subsequennfig-
ures

(1) The following change occu
In the subsequeinfigures

into (2) @) to (3)

PN
| AN

These two step are continuda
in the subsequenfigures alter
nately.

‘.&-—>o

. (4 The following change occa"

in the subsequenfigures | i
(1) to (2 (2 to (3=
s —Fe * p e

PN
@

These tw@ steps are continuel
In the subsequenfigures alter
nately. o |

(5) The arrci/ and the D-shapea
desiogn rotate through 90° anti-
clockwisewhiletheT-shape de-
sign rotates through 90° clock-
wise in eath subsequenfigure.
The arrow moves from left to right
stepwis and from right to left in
one step The T-shapa design
moves from right to left stepwis
and from left to right in one step
'The D-shape desigh moves half
step in clockwise direction after
evely two figures

sfmo s f—we

71.

72.

73.

74.

73.

(3) The following change occu
from Problen Figure (1) to (2) :

—pe ¢ s —Pe

Similar changes occu from Prob
lemFigure(3to(4)andfromProb
lemFigure (5) toAnswer Figure
(2) The following change occu
from Problem Figure (1) to (2) :

o(——-o

VA

Similar changesocéufrom Prob
lem Flgure}(e‘) to (4) apd from Prob-
lem Figuge (5) toAnswier Figure
(4) ThefollowingchangsoccuIn
the sub'seque'nfigures 4

Wt | ) to (3)
#__., | .;f .
\ /’ {

[Y | .
Pl N
'<—:'_—.'_>_'_i * *

Thes two steps are continueal
in the subsequenfigures alter
nately.

(3 Inthe subsequemnfigures the
arrow rotates respectivey 45°,
90, 135, 180 .. clockwise and
anticlockwise alternately Again
thefollowingchangesoccu inthe
subsequenfigures :

(Dto (2) (2)to (3)
t—}-ﬁo [ ' Y

s B¢
4

e
o3 o —>9 L4 L]

These two steps are repeate
in the subsequenfigures alter
nately.

(5) Inead subsequenfigure one
new desig is adda at the uppe
leftcorner Thefirstdesigr moves
inanticlockwisdirectionrespee
tively one-half one oneand one
half, two, two and half step (s) in
the subsequenfigures after be-

ing rotated through 907 anticleck
wise. All other designs also show
similar movement but rotate
through 90° clockwise in each
subsequent figure. !

H

265x 40 180x35

7600 56 " 100
_ 80
100

= 10600 + 6300 = ? x 50
= ? x 50 = 16900
16500

= ?= =338

77.(5) ? =460 x 15 -5 x 200
= 6900 - 10600 = 5900

78.(4) ? = 5163 - 4018 + 3200
= 4354
| 10 120><2.0
79, == +
79 {2] 3 . 100
=3 14 +? =24
=7=24-14=10
80. (3) ?'= —o98 1. 220

= 2222 - 222 = 2000

1
BL. {4) 7= 1548 + 3065 x 15

s ]548 + 204 = 1752
The nearest answer = 1750

82,

5
1600 _ 2

T 2400 3

700 x 40
83. (1) “*—'*——100
= ?= 2800
.(3) 6 x 1.414 + 14.275
= 196.35 x ?
= 23=196x 7
' 23 1
= ?=1o6 8
(3) 7= 1525 x 20 + 495
= 30500 + 495 = 30995
. The nearest answer = 3100
. (2) The pattern of the numb
Series 1s
(484 + 2) -2 =242 -2 = 240
(240 +2)-2=120-2 = 118
1201
(118 +2)-2=59-2=57
{57 +2)~-2=285-2=265

87. (4} The pattern of the numb
- series is

(5) 250 x = 2400 x ?

2ox 20

100

85.



88.

89.

80,

91

88

3x1+2=5
5x 2+ 3 =13
13 x 3 + 4 =43

43 x4 +5=177 #1176

177 x 5 + 6= 891

(5 The patten of the numbe
series is :

6+I1°"=6+1=7
7+3°"=7+9=16

16 + 5° = 16 + 25 = 41

41 + 77 =41 +.49 = 90

90+92=90+81=171%[154

171 + 117 = 171 + 121 =292

(1) The patten of the numbe
series is :

5 x ﬂ-ﬁlzzﬁ’m@

6x2+22 =16

18 x 3+ 32 =57

57 x 4 + 42 = 228 + 16 = 244
244 x 5 + 52 = 1220 + 25 = 1246
{3 Tee padteem off thve mummties
serigs is :
4x06+05=2+05=25
25x1+L=35

35x15+1.5=675# 65
675 x2 +2 =155 r

155 x 2.5+ 25 =3875+ 25
=41.25

41.25 x 3 + 3 = 123.75 +3
= 126.75

(5} From statements I and 1I,
Side of the square

= /196 =14cm.

Circumference of the semi-cir-
cle =(m +2) x radius
= 7(n +2) em.

. [4) Data arc inadequate.
. {3) From statement |,

Cost price of the article

9— x 24000
5

= Rs. 14400

Gain = Rs. (24000 - 14400}
= Rs. 9600

. Gain per cent

_ 9600 . 100-662%
143200 3

From statement 11,
Cosl price = Rs. (24000 - 9600)

= Rs. 14400

Hence, profit per cent can be de-
termined.

94. (4) From statement I,
¥=9y
Required answer is not possible.
"From statement [,
4x - 3x =7
85. (5) From statementI,
40 - 50x20
*100 ~ " 100,
= x=25 R
From statement I,
30 72x25
100 100
= y =60
x:y=25:60=5:12
86. (1) Cost price of 30 kg of wheat
=30 x 45
= Rs. 1350
Total SP for an overall profit af

1350 %125 Rs. 16875
———100 = Rs. 1687.

uyx

25% =

30 x 40
Spof 12 kg (‘“IOT

= 12x 50 = Rs. 600

J of wheat

Expected SP of 18kg of remain-

ing wheat
= 1687.5 ~ 600 = Rs. 1087.5.
Required selling price per kg

10875
= _18_ = Rs. 60
! 1 97. (4} According to the quesubn,
PxRx6 PxRx4 x150
100 100 i00

This relation gives no result.

B8, (3) Let the amount received by P,
Q and R be Rs. 3x, Rs. 5x and
Rs. 7x respectively.

" 7x - 5x = 4000
4000
2
. Amount received by P and @
together = 8x
= 8 x 2000 = Rs. 18000
99. (1) Let the number be x.

=>x= = 2000

1 3 2
xyg xzxg =15
= x= 150
. 30% of 150 = M =45
100

100. (2} Time taken by trains in cross-
ing each other

Sum of lengths of trains
Relative speed

60x5 50
T =—é—m/SEC.
If thé gﬁded‘ 6f other tram he x
m/séc! then”
o 180+ 270, i
10.8 = —gy——

—+x

3
= 180 + 10.8x = 450
= 10.8xiz 450/- 180 = 270
270

= 2h : .‘ i
o8 metre/sec

60 kmph =,

= X =

1

18 '
=25x% = kmph

= 90 kmph

101.(5) let the numbers be x and y
respectwely
Accordmg to the quesnon

3x5H
102.(5) 20% = 20
et °= 700

“y 2
3

=02

2 _08;: =04

c:llto ~:-“|'-

=067,

54 . 1

103. (4} Let the present ages of father
4nd son be S5x and 2x years re-
’Qi)eclively.

».&0ter 4 years,
iFon's age = y years
Ehd mother's age = 2y years
L Yy=2x+ 4

‘.. Father's present age

: fy-4)

«15 years

Mother's present age
= 2y - 4) years -
Clearly, data are inadequate.

120 .
104. (1) Required average = - 60
10%. (5) The word ATTEND consists of
6 letters in which letter T comes

twice.



6!
*. Number of arrangements = ETl

6xExdx3Ix2x]
2x1
108. (5) Total number of tickets sold
of movie B
=(15+19% 24+ 21 + 34 + 27)
thousands
= 140 thousands
Required percentage

= 34 <100 = 24
140

= 360

107. (5) Required difference
= (27- 21) thousand = 6000
108. [4) Average number of tickets of
movie C sold in all the cities
(35+21+19+ 32+26+ 20)
6

nousand

= 153 thousand = 25500

] b
109. (1) Required percentage® 1%
LISRBEY
_%xloo_- 170 C o
T 20 - :

110. (2} Total number of tickéts sold
of all the movies together :
Mumbai = (20 + 15 + 35 +,26 +
18] thousand
= 114 thousand

Delhl = (17 + 19 +21 + 25 + 28) ‘*

thousand

=110 thousand _ 1

Kolkata = (32 + 24 + 19 +21 +

17) thousand

=113 thousand .

Chennai = (18 + 21 + 32 +28 +

34) thousand

=133 thousand

Hyderabad = (16 + 34 + 26:4+ 29

+ 22) thousand

= 127 thousand

Lucknow == (15 +27 + 20435+

26) thousand -t

= 123 thousand )

111. {4} Average number of B type cars

sold by the compay in 2002, 2005

and 2007

125+ 45+ 375 '
=73 thousand
= 31700
112. (5} Required percentage

40
= %100 = =2
20 00

113. (2) Required percentage increase
45-25
T 25

x 100 = 80

114.(1) Percentagincreag in the sak
of A type cals in the year 2004

_35-15

1
= ———xlob = 133%
15 3

115 (3) It isobvious from the graph

116 (2) Totad numbe of employes
both clericd and officer togethe
was maximum in 2002

Year 202 =» 2400 + 786 = 318
117. (1) It isobvious from the table
118 (4) Require percentag

1650
418 x100 = 400 )
119. (3} It is obvious from the table.
120. {2) Bank B{725) and Bank D (678)
121. (2) Average proﬁt' earned by three
companies in 2008

400 + 450 + 350
N\ | crore
= Rs. 400 crore '
122. (5) Required difference in 2007

= Rs. 25 crore

123.(4) Total profit earned by three
companies ;

Year 2009
=» Rs. (400 + 425 + 475} crore
= Rs, 1300 crore
Year 2008
= Rs. (450 + 400 + 350) crore
= Rs. 1200 crore
124. (1) Required percentage increase
_375~275
T 275
128. (3) Required difference
= Rs. (400 - 300) crore
= Rs. 100 crore
128. (1) Only A is true
127. (1) Dubai debt problem
128.(4) AllA, Band C
129, (5) All of these
130. {2} He has taken over as the Dep-
uty Governor of the RBI
131. (4) CRISIL
132. (5] Electronic Clearing Service
133. (1} Pollution
134.(1) Only B
138. (3) India Economic Summit
138. [3) Cash Transaction Tax

137. (2) Indian Space Research Organ-
Isation .

x 100 = 36

138 (3) Poirt of Sak

139 (3) Urban Cooperatie Banks

140 (4) 25.0®

141 (4) Resere Bark of India

142 (1} adequag Capitd Adequay
Ratio

143 (5) All of thes

144. (5) None of these

145 (5) Pakista & Afghanistan

146.(2) 75 billiontUS$

147. (3) Fodd crisis

148 (2) Free Trade Agreemen

149 (3) Only A y

150 (4)/ 70%

151 (2) United Natiorns Organisatio

152 (4) AU the= natiors

153 (4) 10%, 154 (3) Delhi

155 (4) AllA, Bard C

156 (5) China

157. (1) Sustainal# growth

158 (1) Tunisia 159 (3) ICICI Bark

160 (3) Arunach& Pradeh

161(4) 6.5%

162 (1) Ministry of Finane@

163.(4) 170 runs

164 (5) Thailard 165 (1) 1%

166 (4) Chinma 167. (5) Kenya

168 (5) None of thes

169.(1) Bas¢ Norms

170 (4) Cente Forwad

171 (5) None of these

172 (1) Krone

173 (5) All are plant producs

174. (2) Chemisty

175.(1) Nationd Rurd Employmen
Guarante Act.

176 (4) Orand Maste

177. (1) Horse Racirg

178 (2) Jacksonia Seizue

179 (3) Films

180 (4) Justie K. G. Balakrishna

181 (5) Handednes

182 (5) Anand Pawa

183 (5) Half aLife

184 (5) Journalis

185 (4) Bird flu 186 (2) Urd

187. (4) Maldives 188.(4)140

189 (4) Bihar

190 (1) MatritvaSahayogYojaa

191.(1)Odisha

192 (1) TradePolicy Forumn

193 (5) None of thes

194.(1) Rajastha

195.(5) None of thes

196 (4) Israd



197. (5) Noreof thes

198 (3) Australia

199 (4) Thoma Cromwel

200 (3) Sciene ard Technoloy

201 (1) Thefocus of thes institutiorns
is on making aprofit at any cod
insteal of being charitabé to the
needy

202 (3) The realisation tha a large
percentagof the American pop-
ulation not reachel by main
strean banks can be tapped

203 (4) There is scope for microfi-
nane institutiors to be profitable
indevelopécountries

204 (5) Nore of thes

205 (5) Only (C)

206 (3) A discussio abou the pros
pecs of Gramea and microfi-
nane in the U. S.

207 (1) None

208 (5) Backing tha borrowes re-
ceive from otha group membes

209 (1) Themeanimgy of the word Elude
(Verb) asusdl in the passagis:
If somethimg eludesyou, you are
not able to achiew it or nat able
to remembe or understad it.
Look at the sentene :

Shewas extremey tired but sleg
eludd her.

Hence the word eluded and
avoided are synonymous

210 (4) The meanimg of the word Co-
lossd (Adjective) as usd in the
passagis: extremey large
Look at the sentene :

The singe earrs a cdilossek
amourn of money {
The word Frugal| (Adjective)
mears: meagresmall
Hence theword'cﬂossaard fin-
gal are antonymous
211. (1) The sentene shBis an action
| to happe in futurelHence re-
place 'we are yet starting by 'we
areyet to start: '

212 (3) Hereg theword 'chairmentha
isasubje¢ isin Plurd Number
Its PossessiwCa<will be'their.
He?nce repla@ 'senioc RBI offi-
cialstogiveits' by 'senia RBI Of-
ficials to give their.

213 (4) Itsis prope to use prepositio
‘on with'theword 'impact: Hence
replace 'to hawe with the econo
my' by 'to hawe on theeconomy:’

214 (5) No errar

215 (2) Replae "disputes now adays
becaus of by 'disputes now a
days because'lt is superfluos
to use prepositian 'of as subordi
natclausfollows.

Look at the sentence :

He could nat atterd the meetirg
becaus of iliness

He could not atterd the meetirg
becaus hewasill.

216 (1) The form of an infinitive is- to
+V,

217. (2) Relative Pronoun "which shout
be usal

218.(4) Replae 'Compeée (Verb) by
Competitive (Adjective) and
'should by 'shoutl be becausthe
word, 'innovativeé is an Adjective
not a Verb. d

219 (4) The evern shows pag time.
Hence Simple /P,Pﬁ shouH be
used / |

220 (3) Herg we sgne naturd habt
or action Hence Simple Presen
shouHd be used f

221 (5) Asian countries r:;\,e ea
actively openirg their esto
one anothe v

222 (4) The desie to achiewecondi
tionseanducietoglobd ¢onsen
sus @n trade regulatiors ard tar-

“iffs

2@3 (3)'Only (A) ard (B)

2 41 (3) Widening of differences be-
" tween participan ard non-par

ticiparnt countries will hampe glo-
ba stability

225 (4) All (A), (B) ard (C)

226. (4) It will alter the balane of pow
er in the World with smal Asian
countries becomimg mos domi
nart
(4) Asian countriesno longe ex-
port to Westen markes alore
and now cate to Asian markes
as well
(1) The meanimy of the word. Crit-
ical (Adjective) asusalinthepas
sage is extremey importart be
cau® a future situatian will be
affectal by it; crucial serious
Hence the words critical ard
unimportant are antonymous
(5) The meanimg of the word Fres
(Adjective) asuseal inthe passag
is new, mack or experiencd re-
cently)

Hence theword fresh and mod-
ern aresynonymous

227.

228

229

230. (2) Only (B)
231.(2) The correct spelling is : pre
pared

232 (3) The corred spelling is : dis
close

tx

233 (4) The appropria¢ word shout
be : taxes

234. (2) The appropria_ﬂeWord shoud
be : alternative

235 (5) All corred 4

236 (3) Only (A) and (C) {

237. (3) Only(C) 238 (1) Onily (A)

239 (3) All (A), (B) ard (C)

240. (2) Only (B),. 241 (4) importan

242 (2) trusting 243 (3) primarily

2114. ()*unexplaind

245 (5) fhemselve

246. (3) s« 247. (4) supposd

248 (2) showa 249 (5) switch

250 (2) equipmeng
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